FOURTH




You were born with
a visual impairment
- and have worse
opportunities of going
to school than other
children. You cannot
. roll the dice on-the star
shaped space.

Your parents have not
attended school and do
not see the need for you

to go to school either.

You can get into school

from the star shaped
space if yourolla 1.

Your home is far from
the school and trip is
/“/very dangerous. You
can.get to school from
the star shaped space,
ifyourollaloraé.
However, in your school

“path you can only move

forward one space at a
time. Do not throw the
dice on the school path.

You have wealthy
relatives who support
your education. You can
get to school directly
from the star shaped

" space.

Your parents have
attended school and
“want to invest in your
education as well. You
can get to school from
the star shaped space,
if youroll an-even
number.

Because you are a girl,
your parents do not
want to invest in your
‘education as they want
you to marry early.
Without a change of
mindset, your chances
of starting school are
uncertain. You can get to
school by rolling only a 6
on the starshaped space.
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